IFB 2017-344 Grounds Maintenance Equipment

			IRRIC	GATORS	SUPPLY INC	McKinney Ou	utdoor Power	Richardson S	aw & Lawnn	Texas Outdo	or Power Equ	Ed's Lawn	Equipment	Longh	orn Inc.	
				I Price	\$17,265.90	Total Price	\$40,724.36	Total Price	\$56,857.00	Total Price	\$62,263.00	Total Price	\$64,651.80	Total Price	\$1,699.96	Equipment Services Con
Line #	Line #	Description QTY UO	ΜU	nit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	on Not Meeting Specific
1		Stihl FS 240 Trimmer/Brush Cutter with Bike Handle, Standard Cutting Head, and one Brush Knife Blade, or Collin County														
		Approved Equal 1 ea	:h \$4	474.49	\$474.49	\$573.18	\$573.18	<u>\$460.00</u>	\$460.00			\$462.21	\$462.21	No Bid		
1 ALT1	1 ALT1	1 Echo SRM-410U Trimmer/brush cutter 1 ea	:h							\$541.60	\$ 541.60					
Exceptions			-	e head s	old \$16.09					Echo SRM-41 Trimmer/bru 480.00 + 16.3 knife blade (9994420004 trimmer hea (9994420000 Unit comes s 10" 80 tooth blade. Hence reasoning be quoted in pr and metal bl also come st unit.	esh cutter @ 80 3 tooth 8) +22.40 EA d 03) for (2). etandard w/ brushcutter e the ethe ethind 2 heads ice. Harness ade shield					
Warranty			2 yea	irs		2 years		2 years		2 years		2 years				
Delivery Time			48 hc	ours		1 business da	ıγ	7-10 days		30 days		2 weeks				
2	2	Stihl FS 240 R Trimmer/Brush Cutter with Loop Handle, Standard Cutting Head, and one Brush Knife Blade, or Collin County Approved Equal 1 ear	:h \$4	459.89	\$459.89	\$573.18	\$573.18	\$438.00	\$438.00			<u>\$423.32</u>	\$423.32	No Bid		
2 ALT1	2 ALT1	1 Echo SRM-410U Trimmer/brush cutter 1 ea	:h							\$524.80	\$ 524.80					

Exceptions Warranty Delivery Time		spare head sold separately at \$16.09 2 years		2 years	Echo SRM-410U Trimmer/brush cutter @ 480.00 + 16.80 3 tooth knife blade (99944200048) +22.40 EA trimmer head (99944200903) for (2). Unit comes standard w/ 10" 80 tooth brushcutter blade. Hence the reasoning behind 2 heads quoted in price. Harness and metal blade shield also come standard w/ unit. 2 years	2 years		
Dentery time		48 hours	1 business day	7-10 days	30 days	2 weeks		
3	Stihl FS 130 R Trimmer/Brush Cutter 3 with Loop Handle, or Collin County Approved Equal 1 eac	h					No Bid	Requested model discontinued. This
3ALT	3 ALT Stihl FS 131R Trimmer/brush cutter 1 ead	h \$291.99 \$291.99	\$362.50 \$362.50	\$295.00 \$295.00		\$284.54 \$284.54		model replaced it.
3 ALT1	3 ALT1 Echo SRM-2620 Trimmer/brush cutter 1 eau	h			\$288.00			
Exceptions	3 ALT2 Shindaiwa T262 Trimmer/brush cutter 1 ead	h Unit has been replaced by the STIHL FS131R - spare head sold separately at \$16.09			\$288.80			
Warranty		2 years	2 years	2 years	2 years	2 years		
Delivery Time								
		48 hours	1 business day	7-10 days	30 days	2 weeks		
4	4 Stihl MS 461 Chainsaw with 18" Bar, or Collin County Approved Equal 3 eac	h \$818.54 \$2,455.62	\$930.00 \$2,790.00	\$840.00 \$2,520.00		\$717.77 \$2,153.31	No Bid	

4 ALT1	4 ALT1 Echo CS-680-20 Chainsaw w/ 20" bar 3	each			\$567.20 \$ 1,701.60			Alternate does not meet specifications for bar length. 18" bar is 2" shorter than 20" bar.
Exceptions		PRICED PER EACH UNIT. CASE SOLD SEPARATELY AT 47.99EA. CHAINS SOLD SEPARATELY AT 11.20EA			Echo CS-680-20 Chainsaw w/ 20" bar @ 496.00 + 18.40 EA chain (2 of them) (72LPX70CQ) + 34.40 case (99988801211)			
Warranty		90 days	90 days	90 days	2 years	90 days		
Delivery Time		48 hours	1 business day	7-10 days	30 days	1 week		
5	5 Stihl MS 362 C-M Chainsaw with 18" Bar, or Collin County Approved Equal 1	each \$573.74 \$573.74	\$674.07 \$674.07	\$610.00 \$610.00		<u>\$566.66</u> \$566.66	No Bid	
5 ALT1	5 ALT1 CS-620P Chainsaw w/ 20″ bar 1	each			\$511.20 \$ 511.20			Alternate does not meet specifications for bar length and weight. 18" bar is 2" shorter than 20" bar. Echo weighs 1.3 lbs more than Stihl. An 11% increase. A 15- min job does not make a lot of difference. An all-day job definitely makes a difference.
Exceptions		PRICED PER EACH UNIT. CHAINS SOLD SEPARATELY AT 11.20EA			CS-620P Chainsaw w/ 20" bar @ 440.00 + 18.40 Ea chain (2 of them) (#72LPX70CQ) + 34.40 case (# 99988801211)			
Warranty		90 days	90 days	90 days	2 years	90 days		
Delivery Time		48 hours	1 business day	7-10 days	30 days	1 week		
6	6 Stihl MS 362 C-M Chainsaw with 20" Bar,							
6	-	each \$573.74 \$573.74	\$674.07 \$674.07	\$611.00 \$611.00		<u>\$566.66</u> \$566.66	No Bid	

6 ALT1 Exceptions	6 ALT1	CS-620P Chainsaw w/ 20" bar 1 each	PRICED PER EACH UNIT. CHAINS SOLD SEPARATELY AT 12.86EA			\$511.20 \$ 511.20 CS-620P Chainsaw w/ 20" bar @ 440.00 + 18.40 Ea chain (2 of them) (#72LPX70CQ) + 34.40 case (# 99988801211)			Alternate does not meet specifications for weight. Echo weight 1.3 lbs more than Stihl. 11% increase. A 15-min job does not make a lot of difference. An all-day job definitely makes a difference.
Warranty			90 days	90 days	90 days	2 years	90 days		
Delivery Time			48 hours	1 business day	7-10 days	30 days	1 week		
7	/	Stihl MS 362 C-M Chainsaw with 16" Bar, or Collin County Approved Equal (per addendum bar changed from 22" to 16") 1 each	\$573.74 \$573.74	\$674.07 \$674.07	<u>\$569.00</u> \$569.00		\$574.21 \$574.21	No Bid	
7 ALT1	7 ALT1								Alternate does not meet specifications for bar length and weight. 16" bar is 8" shorter than 24" bar. Weight: Echo weighs 1.3 lbs more than Stihl. 11% increase. A 15- min job does not make a lot of difference. An all-day job definitely
7 ALT2	7 ALT2	Echo CS-620P Chainsaw w/ 24" bar 1 each Shindaiwa 600sx w/ 24" bar 1 each				\$488.00 \$ 488.00 \$488.00 \$ 488.00			makes a difference. Alternate does not meet specifications for bar length and weight. 16" bar is 8" shorter than 24" bar.
Exceptions			PRICED WITH 16" BAR AND CHAIN PER ADDENDUM. PRICED PER EACH UNIT. CHAINS SOLD SEPARATELY AT 11.20EA	availability for unit is		CS-620P Chainsaw w/ 24" bar @ 448.00 + 20.00 Ea chain (2 of them)(# 72LPX81CQ) Echo CS-620F Chainsaw w/ 24" bar @ 448.00 + 20.00 Ea chain (# 72LPX81CQ)	2		

Warranty Delivery Time			90 days	90 days	2 year warranty	90 days		
Delivery fille		48 hours	1 business day	7-10 days	30 days	2 weeks		
8	8 Stihl MS 362 C-M Chainsaw with 25" Bar, or Collin County Approved Equal 1 each	\$581.39 \$581.39	\$674.07 \$674.07	\$585.00 \$585.00		<u>\$574.21</u> \$574.21		Alternate does not meet
8 ALT1	8 ALT1							specifications for bar length and weight. Bar is 1" shorter, which may not make a lot of difference, but
	Echo CS-620P Chainsaw w/ 24" bar 1 each				\$488.00 \$ 488.00			weight is a factor.
8 ALT2	8 ALT2 Shindaiwa 600sx w/ 24" bar 1 each				\$488.00 \$ 488.00			Alternate does not meet specifications for bar length. Bar is 1" shorter.
Exceptions		PRICED PER EACH UNIT. CHAINS SOLD	Stihl MS362 C-M 25 Stihl 0000-900-4008 Woodsman Carrying Case Stihl 36 RS-68 chain		Echo CS-620P Chainsaw w/ 24" bar @ 448.00 + 20.00 Ea chain (2 of them (# 72LPX81CQ) Shindaiwa 600sx w/ 24" bar @ 448.00 + 20.00 Ea chain (2 of them)(# S72LPX81CQ)			
Warranty		90 days	90 days	90 days	2 year warranty	90 days		
Delivery Time			1 business day	7-10 days	30 days	1 week		
				0 00,0				
9	Scag SWZT52-18FSE 52" Electric Start 9 Walk-Behind Lawn Mower, or Collin County Approved Equal 1 each	No Bid		<mark>\$4,799.00</mark> \$4,799.00	\$5,200.00 \$5,200.00		No Bid	
9 ALT1	9 ALT1							Alternate does not meet specifications - fuel tank capacity; rear tires; Failed to provide proper
9 ALT1	9 ALT1 Bobcat Hydro FS600VKAW 52" SD 1 each 9 ALT1 Toro 30489 Mid-Size Walk-Behind Mower with floating deck, hydro drive, twin lever operation. 18.5 HP Kawasaki, electric start w/52" Turbo Force Deck. 1 each		\$5,697.00 \$5,697.00			\$4,483.00 \$4,483.00		information for further evaluation.

Exceptions			24 months manufacturer's warranty on unit 36 month manufacturer's	2-year Commercial mower warranty , 3-year "no crack" cutter deck warranty, 3-year cutter deck spindle warranty	LIMITED WARRANTY - COMMERCIAL EQUIPMENT Any part of the Scag commercial mower manufactured by Scag Power Equipment and found, in the reasonable judgment of Scag, to be defective in materials or workmanship, will be repaired or replaced by an Authorized Scag Service Dealer without charge for parts and labor during the periods specified below. This warranty is limited to the original purchaser and is not transferable. Proof of purchase will be required by the dealer to substantiate any warranty claims. All warranty work must be performed by an Authorized Scag Service Dealer. This warranty is limited to the following specified periods from the date of the original retail purchase for defects in materials or workmanship: * Wear items including drive belts, blades, hydraulic hoses and tires are warranted for ninety (90) days. * Frame and structural components including oil reservoir and oil coolers are warranted for 2 years (Parts and labor). * Cutter decks are warranted against cracking for a period of three (3) years. (Parts and labor 1st and 2nd year;	3 year/2500 hour	
Delivery Time			5-6 business days	7-10 days	30 days	2 weeks	
10 10 ALT1	Scag STTII-52V-26CH-EFI 52" Zero-Turn 10 Turf Tiger II Riding Lawn Mower, or Collin County Approved Equal 1 each 10 ALT1 Bob Cat 942546M ProCat FX730V 52" SD 1 each	No Bid		<u>\$9,250.00</u> \$9,250.00	\$10,160.00 \$10,160.00	\$7,279.00 \$ 7,279.00	Alternate does not meet specifications - Engine 23 HP not EFI; speed; front tires not flat free; smaller drive tires; cutting height; unknown other

10 ALT1 Exceptions	mower w	aster 5000 Series Zero turn /25HP Kohler Command Pro Turbo Force Deck	1 each		\$8,399.00 \$ 8,399.00					Alternate does not meet specifications - Engine 25 HP; front tires not flat free; smaller drive tires; cutting height; unknown other
Warranty						mower warranty , 3-year "no crack" cutter deck warranty, 3-year cutter	See line item 9 warranty	6 year/2750 Hour - lifetime deck pan and carrier frame		
Delivery Time					5-6 business days	7-10 days	30 days	2 weeks		
	Scog STTU	721/ 2604 EEL 72" 70ro Turp								
11	11 Turf Tiger	-72V-26CH-EFI 72" Zero-Turn II Riding Lawn Mower, or Inty Approved Equal	2 each	No Bid	No Bid	\$9,820.00 \$19,640.00	\$10,720.00 \$21,440.00		No Bid	
11 ALT1	11 ALT1 Bob Cat 9	42519M FX1000VKAW 72	2 each					\$9,599.00 \$ 19,198.00		Alternate does not meet specifications - Engine not EFI; front tires not flat free; smaller drive tires; cutting height; unknown other
11 ALT1	11 ALT1 Zero Turn	18 Toro Z Master 5000 Series Mower w/Kohler 26.5 9 Pro EFI w/72" Turbo Force	2 each		\$9,779.00					
Exceptions										
Warranty					for unit. 36 months manufacturer's warranty	2-year Commercial mower warranty , 3-year "no crack" cutter deck warranty, 3-year cutter deck spindle warranty		6 year/2750 Hour - lifetime deck pan and carrier frame		
Delivery Time					5-6 business days	7-10 days	30 days	2 weeks		

12 Exceptions Warranty	12	Billy Goat BC2600 HEBH Field and Brush Cutter/Mower 26" cutting deck, or Collin County Approved Equal	1 each	No Bid	\$3,600.00 \$3,600	00 <u>\$3,097.00</u> \$3,097.00) \$3,355.80 \$3,355.80	\$4,075.00 \$4,075.00 N	lo Bid
					1 year	1 year	1 year	1 year	
Delivery Time					5-6 business days	7-10 days	30 days	2 weeks	
13	13	Billy Goat BC2600HM Field and Brush Cutter/Mower 26" rigid cutting deck, or Collin County Approved Equal (per addendum - no battery)	1 each	No Bid	\$2,650.00 \$2,650	00 <u>\$2,238.00</u> \$2,238.00	0 \$2,400.00 \$2,400.00	\$3,000.00 \$3,000.00	lo Bid
Exceptions									
Warranty					1 year	1 year	1 year	1 year	
Delivery Time					5-6 business days	7-10 days	30 days	2 weeks	
14	14	STIHL HS 82 T 30" Cutting-Bar Hedge Trimmer, or Collin County Approved Equal	2 each	\$386.89 \$773.78	\$424.00 \$848	00 \$386.00 \$ 772.00		\$376.88 \$753.76 N	lo Bid
14 ALT1	14 ALT:	Echo HC-3020 double sided 30" Hedge clipper	2 each				\$416.00 \$ 832.00		
Exceptions									
Warranty				2 years	2 years	2 years	2 years	2 years	
Delivery Time				48 hours	1 business day	7-10 days	30 days	2 weeks	
15	15	STIHL HT 133 Pole Pruner, or Collin County Approved Equal	2 each	\$474.49 \$948.98	\$543.84 \$1,087	58 \$471.00 \$942.00		<u>\$374.01</u> \$748.02 N	lo Bid
15 ALT1	15 ALT:	1 Closest Alternate we have is the Echo PPT-2620 (listed on line 16)	2 each				\$501.60 \$1,003.20		

Exceptions				PRICED PER EACH UNIT. CHAINS ARE SOLD SEPARATELY AT 10.37EA					Echo PPT-2620 Ea + 10.80 Ea p 91VXL44CQ)					
Warranty				2 years	3 month manufa warranty	icturer's	2 years		2 years		2 years			
Delivery Time				2 days	1 business day		7-10 days		30 days		1 week			
16	16	Echo PPT-2620 Pole Saw Power Pruner Telescoping with Loop Handle, or Collin County Approved Equal	2 each	No Bid	\$496.20	\$992.40	<u>\$415.00</u>	\$830.00	\$501.60	\$1,003.20	\$501.10	\$1,002.20	\$424.99	\$849.98
Exceptions									Echo PPT-2620 Ea + 10.80 Ea p 91VXL44CQ)					
Warranty					2 years		2 years		2 years		2 years			
Delivery Time					1 business day		7-10 days		30 days		2 weeks			
17	17	Echo PPT-2620H Pole Saw Power Pruner Telescoping with In-Line Handle, or Collin County Approved Equal	2 each		\$496.20	\$992.40	<u>\$415.00</u>	\$830.00	\$501.60	\$1,003.20	\$501.10	\$1,002.20	\$424.99	\$849.98
17 ALT1	17 ALT:	1 Stihl HT103	2 each	\$437.99 875.98					\$501.60	\$1,003.20				
Exceptions				PRICED PER EACH UNIT. CHAINS ARE SOLD SEPARATELY AT 9.13EA					Echo PPT-26201 480.00 Ea + 10. chain (# 91VXL4	80 Ea per				
Warranty				2 years	2 years		2 years		2 years		2 years			
Delivery Time				48 hours	1 business day		7-10 days		30 days		1 week			
18	18	STIHL BR 430 Backpack Blower, or Collin County Approved Equal	5 each	\$307.99 \$1,539.95	\$352.00	\$1,760.00	<u>\$291.00</u>	\$1,455.00			\$297.77	\$1,488.85	No Bid	
18 ALT1	18 ALT:	¹ Echo PB-755ST back pack blower	5 each						\$360.00 \$	1,800.00				
18 ALT2	18 ALT2	² Shindaiwa EB633RT backpack blower	5 each	•					\$360.00 \$	1,800.00				
Exceptions														

Warranty		2 years	2 years	2 years	2 years	2 years	
Delivery Time		48 hours	1 business day	7-10 days	30 days	1 week	
19	Billy Goat HW651HSP 24" High Weed 19 Commercial Mower, or Collin County Approved Equal 2 each		No Bid	No Bid			No award line item. Requested product not available. Alternates do not meet specifications.
19 ALT1	19 ALT1 Billy Goat BC2600HM brushcutter 2 each				\$2,400.00 \$ 4,800.00		
19 ALT1	19 ALT1 Billy Goat BC2600HHEU 24" High wheel brushcutter 2 each					\$4,175.00 \$ 8,350.00	
Exceptions					Billy Goat hasn't made the High Weed mowers in a couple years now. The closet would be the brushcutters through the BC2600 series. 13HP Honda motor, 26" deck, 3 speed transmission (Same as line item # 13)		
Warranty					1 year	1 year	
Delivery Time					30 days	2 weeks	
20	20 Stihl BG 86 C-E Handheld Blower, or Collin County Approved Equal 6 each	\$197.09 \$1,182.54	\$208.00 \$1,248.00	\$186.00 \$1,116.00		\$168.78 \$1,012.68	Low Bidder offered acceptable
20 ALT1	20 ALT1 Echo PB-2520 hand held blower 6 each				<u>\$120.00</u> \$ 720.00		alternate make & model
Exceptions							
Warranty		2 years	2 years	2 years	2 years	2 years	
Delivery Time		48 hours	1 business day	7-10 days	30 days	2 weeks	
21	21 Stihl TS 800 16" Cut-off Saw, or Collin County Approved Equal 3 each	\$1,193.39 \$3,580.17	\$1,545.98 \$4,637.94	<u>\$1,380.00</u> \$4,140.00	No Bid	\$1,172.99 \$3,518.97	Low Bidder on requested line item did not include carrying case.

Exceptions		PRICED PER E CARRY CASE : SEPARATELY	SOLD					
Warranty		90 days	90 days	90 days		90 days		
Delivery Time		48 hours	1 business day	7-10 days		2 weeks		
22	22 Stihl D-BA80 16" Diamond Wheel Blade, or Collin County Approved Equal	10 each \$237.99	\$2,379.90 \$181.68 \$	\$1,816.80 <u>\$166.00</u> \$1,66	0.00 No Bid	\$313.50 \$3,135.0	0 No Bid	
Exceptions								
Warranty		none	N/A	N/A		90 days		
Delivery Time		48 hours	1 business day	7-10 days		2 weeks		
23	Percent Discount Off Latest Suggested 23 List Price for any SNAPPER Equipment Not Listed Herein	1 No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	
24	Percent Discount Off Latest Suggested 24 List Price for any BILLY GOAT Equipment Not Listed Herein	1 No Bid		23.00	20.00000	20.000000	23.00	
25	Percent Discount Off Latest Suggested 25 List Price for any STIHL Equipment Not Listed Herein	1 23.000000	20.000000	25.20	No Bid	20.000000	No Bid	
26	Percent Discount Off Latest Suggested 26 List Price for any SCAG Equipment Not Listed Herein	1 No Bid	No Bid	<u>20.20</u>	20.00000	Did not meet requirements	No Bid	Ed's Lawn did requirements brand being o

- Award

- Tie